IEfZ Pt NEGZ Pt NEGZ Pt NEGZ Pt JNEGZ Pt JNEGI Pt JEGI Pt

35 35
27 27

1 AT #E KENT 2 15 1 20

2 B8 RE RT.IA0NT" 3 12 2 15

3 RIF Bay RT.HISTRY 1 20 20 20
4 HA St F-hEE 5 8 5 8 16 16
5 EE Ba KENT 3 12 12 12
6 ok 55 RT.HISTRY 4 10 10 10
6 A E R.B PEGTOP 4 10 10 10
8 % =t RT.IADNT" 6 6 6 6
9 AR A V-3 7 4 4 4
10 AR Kt AR 8 3 3 3

IEfZ Pt NEGZ Pt NEGZ Pt NEGZ Pt JNEGZ Pt JNEGI Pt JEGI Pt

25
20

1 i Bk KENT 2 15 4 10 25
2 FIMR OF RT.HISTRY 1 20 20
2 *a —E F-h 33y 1 20 20 20
2 TR BBFE  KENT 3 12 5 8 20 20
5 Kl BEA  KENT 2 15 15 15
6 & Bt R 3 12 12 12

IEfZ Pt NEGZ Pt NEGZ Pt NEGZ Pt JEGZ Pt JNEGI Pt JEGI Pt

40
24

1 aE =i KENT 1 20 1 20 40
2 i s KENT 3 12 3 12 24
3 [==P= =N KENT 6 6 2 15 21 21
4 1808 g KENT 4 10 4 10 20 20
5 aRE F-hth* 1 2 15 8 3 18 18
6 IR K— KENT 5 8 5 8 16 16
7 BA 5 7 4 6 6 10 10
8 KL EKER 7 4 4 4
9 AR EE 9 2 2 2
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| SRd
JEAT] K540
Az Pt MBAL Pt BRI Pt NEAL Pt NEAZ Pt JNEAL Pt BRI Pt = <
1 EE BBE) KENT 2 s 1 20 35 E5)
2 B 1 20 20 20
3 U= EE FROEODEFD 4 10 5 8 18 18
4 i B4 KENT 10 1 2 15 16 16
5 BA 82 SPEC 3 12 12 12
5 =B =18 9 2 4 10 12 12
5 7 AS KENT 3 12 12 12
8 S EE KENT 5 8 8 8
9 R BE RT.HISTRY 6 6 6 6
9 I BExR SPEC 6 6 6 6
11 K R RT.HISTRY 7 4 4 4
12 RIS (£5) SPEC 8 3 3 3
13 2E th 11 0 0 0
mN35
JEAZ] K540
IEfz Pt JBAZ Pt BRI Pt NEAZ Pt IBAZ Pt JEAL Pt JEAI Pt = <
1 B REE SPEC 1 20 1 20 40 40
2 e it KENT 4 10 5 8 18 18
3 LI F— 2 i's 15 15
3 I BA 2 15 15 15
5 %k s KENT 5 8 6 6 14 14
6 (I 223 KSF 3 12 12 0 12 12
6 TR EE 3 12 12 12
8 B 4 10 10 10
9 =E 18 KSF 6 6 11 0 6 6
10 MR —& SPEC 8 3 9 2 5 5
11 = B KSF 7 4 4 4
11 M B 7 4 4 4
13 JIIN=//N \°9-2 8 3 3 3
14 S 2 IA001° 9 2 2 2
15 ) EE 10 1 1 1
15 it RE 10 1 1 1
17 Eif E— KSF 11 0 0 0
17 & R KSF 12 0 0 0
17 LA 4 KSF 13 0 0 0




